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EIrBEIS—pd TERERS-DBRBETRRE100# %2 F T REFE

26 LA KTERSEREL
R oo | i RlE
) Av | Av | As | Bi | Be | Ba | Cuo | Coo| Cu | %;%ig ,q(MDL“;
pH 8.4 8.4 8.4 8.4 8.4 8.4 8.4 8.4 8.4 7.5~8.5 —
KE(C) 28.3 28.1 27.6 28.7 28.2 27.7 28.8 28.3 28.0 — —
¥ £ (mg/L) 6.0 5.9 5.9 6.0 5.9 5.8 5.6 5.5 5.5 >5.0 —
R 4 (mg/L) 4.0 4.0 4.8 1.8 1.2 1.3 1.5 1.4 2.0 — 1.0
= 7 (psu) 33.9 34.0 34.0 33.8 33.9 33.9 34.0 33.8 33.8 — —
P A (m) 0.98 - - 1.1 - - 1.15 - - — —
ERMEED 4
(mg/L) <1.0 1.4 1.1 2.0 1.5 1.8 1.9 2.7 24 <3.0 1.0
" fni/f) £ 7.2 8.8 9.9 13.3 7.6 10.4 10.5 8.3 8.3 — 1.1
sk(mg/L) 0.025 | 0.028 | 0.024 | 0.019 | 0.020 | 0.020 | 0.021 | 0.031 | 0.032 — 0.002
% (mg/L) 0.68 0.59 0.45 0.44 0.38 0.33 0.36 0.38 0.46 — 0.05
% ¥ (mg/L) 0.09 0.09 0.11 0.05 0.05 0.08 0.06 0.08 0.12 — 0.02
Bl g (mgl) | 0.62 0.51 0.38 0.42 0.35 0.31 0.35 0.36 0.44 — 0.04
A s @ (mg/L) 0.23 0.32 0.26 | N.D. 0.10 0.06 0.05 | N.D. | 0.06 — 0.04
LT paB(mgl) | 0.04 0.04 0.03 0.03 0.03 N.D. 0.03 0.03 0.03 — 0.007
¥ P5(mg/L) <1.0 <1.0 | <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 | <1.0 2.0 1.0%*
B (mg/L) ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | N.D. 0.01 0.0009
(SFﬁ/ﬁ)?ﬁ) <10 | <10 | 20 | <10 | <10 | <10 | <10 | <10 | <10 | — 10
F (mg/L) 0.0013 | 0.0012 | 0.0013 | 0.0012 | 0.0011 | 0.0012 | 0.0010 | 0.0011 | 0.0010 0.05 0.0003
4% (mg/L) ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | N.D. 0.010 0.0002
£ (mg/L) <0.0050{<0.0050{<0.0050/<0.0050|<0.0050{<0.0050{<0.0050{<0.0050(|<0.0050|  0.050 0.0050*
& (mg/L) ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | N.D. 0.002 0.0004
4 (mg/L) N.D. | ND. | ND. | N.D. |0.0008 | N.D N.D N.D N.D 0.030 0.0004
44 (mg/L) N.D. | ND. | ND. | N.D. |0.0005| N.D. | N.D. | N.D. | 0.0006 — 0.0004
#-(mg/L) ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | N.D. 0.100 0.0004
#(mg/L) 0.0026 | 0.0050 | 0.0026 | 0.0049 | 0.0068 | 0.0049 | 0.0025 | 0.0037 | 0.0064 | 0.500 0.0015
% %(mg/L)| ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | N.D. — 0.00075
#Z 5+ mgL)| ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | N.D. — 0.00221
AE fl#~(mg/L)| N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. - 0.00106
ZZ = ¥ mg/Ll)| ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | N.D. — 0.00107
g 274> (mg/L) | <0.00500 | <0.00500 | <0.00500 | <0.00500 | <0.00500 | <0.00500 | <0.00500 | <0.00500 | <0.00500 — 0.00500%*
- &t mg/L)| ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | N.D. — 0.00095
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